QUICK™
PRODUCTS

RV Bumper-Mounted
2 Bike Rack Instructions

Ref. Description Qty.
A Carrier Frames 2
B Stabilizer Poster 1
C 6” x 3/8” U-Bolts 3
D 7" x 3/8"” U-Bolt 1
E End Cap 1
F 3/8" Washers 8
G 3/8” Nylon Lock Nuts 8

Read, Follow, and Save These Instructions.

A Warnings:

¢ To ensure safety while traveling, bicycles must be secured
to rack. Permanent vehicle fixtures, such as bumpers and
tow hooks, provide the most security when fastening
bicycles on the rack. Steel cables are recommended for
strength and should be positioned through the bicycle
frames. Should a one become dislodged, a secured bicycle
will remain connected to the vehicle.

e Do not exceed manufacturer weight limit. This product
is not intended for use with motorized bicycles, tandem
bicycles, or heavy bicycles.

¢ Install only on continuous weld steel tubular bumpers.
Consult vehicle manufacturer to ensure bumper strength
before application.

¢ Periodically check all nuts to make sure they remain tight.
Snug any loose nuts.

e Evenly distribute bicycle weight on rack.

¢ This product and its manufacturer are not liable for any
wear and tear to your bicycle including scratches, damages
from improperly securing bicycles or incorrect frame
installation.

QPRBM2R

-

Warranty

Quick Products™ warranties this product for
consumer use for 1 years after the date of retail
purchase. Warranty valid only in the USA.

Quick Products warranties this product to the original
retail purchaser to be free from defects in materials
and workmanship, ordinary wear and tear expected.
This warranty shall not apply to any defects caused
by: (I) overloading, (Il) physical abuse of goods or
any acts of vandalism by any person, (lll) improper
installation or use contrary with the instructions,

(IV) commercial use. The sole remedy under this
warranty is at the discretion of the manufacturer:

the replacement of the same or similar product,

or the refund of the original purchase price. Quick
Products™ is not responsible for any consequential
or incidental damages. Any and all freight charges to
handle warranty claims are the responsibility of the
customer. Quick Products™ is not responsible for
any labor charges that may be incurred.

service@quickproducts1.com ¢ QuickProducts1.com

3261qp0219



Installation Instructions
Read all information included on page 1 before beginning operation or installation.

1. Position the left carrier frame above square bumper, aligning the bolt holes on either side of the bumper.
2. From the bottom, place small U-bolts around the bumper and up through the matching holes in the carrier
frame.

3. Place a washers and nuts on the U-bolts. Do not tighten; the frame should now be able to slide along the
bumper left and right.

. Position the right carrier frame above square bumper, aligning the bolt holes on either side of the bumper.

. From the bottom, place the remaining small U-bolt through the right side of the frame and the large U-bolt
through the left side of the frame.

. Position stabilizer post onto the top of the frame, matching the holes to the large U-bolt.

. Place washers and nuts on each U-bolt. Do not tighten.

. Adjust carrier frames to desired width. Bicycle tires should sit into the channels.

9. Once the desired position is achieved, tighten all nuts securing the frames to the bumper.

10. Install end cap on stabilizer post.

11. Using a rope, bungie or cable (not included), secure bikes to stabilizer post.

(S0~

0 N O

Figure 1

. Correct

Incorrect

service@quickproducts1.com ¢ QuickProducts1.com




QUICK™
PRODUCTS

RV Pare-chocs Monter 2 Porte-vélos

Référence Description Quantité
A Cadres Transporteur 2
B Stabilisateur affiche 1
C 6” x 3/8” U-Boulons 3
D 7" x 3/8” U-Boulons 1
E Embout 1
F 3/8" Rondelles 8
G 3/8" Nylon-écrous 8

Lire, suivre, et conserver ces instructions.

A Avertissements:

e Pour assurer la sécurité pendant le voyage, les bicyclettes
doivent étre fixés au rack. accessoires de véhicules
permanents, tels que les pare-chocs et des crochets de
remorquage, fournissent le plus de sécurité lors de la
fixation des vélos sur le rack. Les cables en acier sont
recommandés pour la force et doivent étre positionnés a
travers les cadres de bicyclettes. Cas ou l'une se détacher,
un vélo sécurisé restera connecté au véhicule.

e Ne pas dépasser la limite de poids du fabricant. Ce produit
est destiné a étre utilisé avec des vélos motorisés, vélos
tandem, ou des vélos lourds.

¢ Installez uniqguement sur les pare-chocs tubulaires en acier
soudé en continu. Consulter le fabricant du véhicule pour
assurer pare-chocs de force avant I'application.

e VVérifiez périodiquement tous les écrous pour vous assurer
qu’ils demeurent serrés. Snug des écrous desserrés.

e Répartir le poids de la bicyclette sur la grille.

e Ce produit et son fabricant ne sont pas responsables
de toute usure de votre vélo, y compris les rayures, les
dommages causés par les bicyclettes de fixation mal ou
I'installation de trame incorrecte.

QPRBM2R

-

Garantie

Quick Products™ garantit ce produit pour une
utilisation a la consommation pour 1 ans aprés la date
d’achat. Garantie valable uniquement aux Etats-Unis.

Quick Products™ garantit ce produit a I'acheteur
original sont exempts de défauts de matériaux et de
fabrication, I'usure normale attendus. Cette garantie ne
concerne pas les défauts causés par: (l) la surcharge, (l1)
la violence physique des marchandises ou de tout acte
de vandalisme par toute personne, (lll) une installation
incorrecte ou contraire aux instructions, (V) I'utilisation
commerciale. Le seul recours en vertu de cette garantie
est a la discrétion du fabricant: le remplacement de la
méme ou un produit similaire, ou le remboursement
du prix d’achat initial. Quick Products™ est pas
responsable des dommages indirects ou accessoires.
Tous les frais de transport pour gérer les demandes de
garantie sont a la charge du client. Quick Products™ est
pas responsable des frais de main-d’ceuvre qui peuvent
étre engagés.

service@quickproducts1.com ¢ QuickProducts1.com




Instructions D’installation

Read all information included on page 1 before beginning operation or installation.

1. Placez le chassis de support gauche au-dessus de pare-chocs carré, en alignant les trous de boulons de
chaque c6té du pare-chocs.

2. Dans le fond, placez les petits U boulons du pare-chocs et plus a travers les trous correspondants dans le
chaéssis porteur.

3. Placez un rondelles et les écrous sur les U-boulons. Ne pas serrer; le cadre doit maintenant étre en mesure de
glisser le long du pare-chocs gauche et a droite.

4. Placez le cadre de support juste au-dessus de pare-chocs carré, en alignant les trous de boulons de chaque
c6té du pare-chocs.

. Du fond, placez le reste petit U-boulon par le c6té droit du cadre et le grand U-boulon a travers le c6té gauche
du cadre.

. Position stabilisant apreés sur la partie supérieure du cadre, avec les trous au grand U-boulon.

. Placez les rondelles et les écrous sur chaque U-boulon. Ne pas serrer.

. Ajuster les cadres de support a la largeur souhaitée. Pneus vélo doivent étre assis dans les canaux.
9. Une fois la position désirée est atteinte, serrer les écrous de fixation des cadres sur le pare-chocs.
10. Installez capuchon sur stabilisant apres.

11. A I'aide d’une corde ou bungie (non inclus), sécurisés les vélos au poteau de stabilisant.

o1

00N

Figure 1

®

Correct

Incorrect

service@quickproducts1.com ¢ QuickProducts1.com




